
Chapter 6 Open Book Practice Test
Name: __________________________  Date: _____________

	1.
	The illusion of movement in animated neon signs is known as:

	A)
	the phi phenomenon.

	B)
	relative motion.

	C)
	retinal disparity.

	D)
	visual capture.

	E)
	interposition.


	2.
	As the farmer looked across her field, the parallel rows of young corn plants appeared to converge in the distance. This provided her with a distance cue known as:

	A)
	proximity.

	B)
	linear perspective.

	C)
	closure.

	D)
	continuity.

	E)
	interposition.


	3.
	In foggy weather, automobile drivers are especially likely to be misled by the distance cue known as:

	A)
	interposition.

	B)
	convergence.

	C)
	relative motion.

	D)
	relative clarity.

	E)
	relative size.


	4.
	Holding two index fingers in front of the eyes can create the perception of a floating finger sausage. This best illustrates the effect of:

	A)
	convergence.

	B)
	relative clarity.

	C)
	retinal disparity.

	D)
	interposition.

	E)
	visual capture.


	5.
	The study of phenomena such as clairvoyance and telepathy is called:

	A)
	parapsychology.

	B)
	Gestalt psychology.

	C)
	human factors psychology.

	D)
	psychokinesis.

	E)
	ESP.


	6.
	In order to give greater depth to his painting, Shakir enveloped the background landscape in a misty haze. Shakir was making use of the distance cue known as:

	A)
	texture.

	B)
	relative clarity.

	C)
	interposition.

	D)
	closure.

	E)
	proximity.


	7.
	Although he was wearing a pair of glasses that shifted the apparent location of objects 20 degrees to his right, Lars was still able to play tennis very effectively. This best illustrates the value of:

	A)
	retinal disparity.

	B)
	perceptual set.

	C)
	shape constancy.

	D)
	visual capture.

	E)
	perceptual adaptation.


	8.
	The perception that Bugs Bunny is hopping across a movie screen best illustrates:

	A)
	visual capture.

	B)
	retinal disparity.

	C)
	perceptual adaptation.

	D)
	the Ponzo illusion.

	E)
	stroboscopic movement.


	9.
	When Rick learned that many students had received a failing grade on the midterm exam, he was no longer disappointed by his C grade. His experience best illustrates the importance of:

	A)
	perceptual adaptation.

	B)
	bottom-up processing.

	C)
	relative clarity.

	D)
	context effects.

	E)
	interposition.


	10.
	After reading her horoscope in the morning newspaper, Sabrina readily interpreted numerous experiences of that day as clear verifications of its accuracy. This best illustrates the dangers of:

	A)
	visual capture.

	B)
	perceptual set.

	C)
	the cocktail party effect.

	D)
	bottom-up processing.

	E)
	relative clarity.


	11.
	The influence of schemas on our interpretations of ambiguous sensations best illustrates:

	A)
	shape constancy.

	B)
	top-down processing.

	C)
	visual capture.

	D)
	the phi phenomenon.

	E)
	extrasensory perception.


	12.
	Although Sue Yen sees her chemistry professor several times a week, she didn't recognize the professor when she saw her in the grocery store. This best illustrates the importance of:

	A)
	visual capture.

	B)
	context effects.

	C)
	proximity.

	D)
	relative clarity.

	E)
	perceptual adaptation.


	13.
	Numerous pedestrians calmly walked past an elderly gentleman lying on a city sidewalk without showing any concern. As a consequence, other passersby failed to perceive that the man was in need of immediate medical assistance. This best illustrates the importance of:

	A)
	perceptual adaptation.

	B)
	relative clarity.

	C)
	context effects.

	D)
	visual capture.

	E)
	perceptual constancy.


	14.
	A 3D movie enhances one's sense of depth perception by simulating the effects of:

	A)
	interposition.

	B)
	retinal disparity.

	C)
	linear perspective.

	D)
	convergence.

	E)
	perceptual constancy.


	15.
	The perception of a humanlike face in the random configurations of the lunar landscape best illustrates the impact of ________ on visual perception.

	A)
	relative clarity

	B)
	perceptual schemas

	C)
	visual capture

	D)
	shape constancy

	E)
	stroboscopic movement


	16.
	Because the two teams wore different-colored uniforms, Cheri perceived the ten basketball players as two distinct groups. This best illustrates the principle of:

	A)
	proximity.

	B)
	color constancy.

	C)
	closure.

	D)
	similarity.

	E)
	convergence.


	17.
	Because Carmella, Jorge, and Gail were all sitting behind the same bowling lane, Ruth perceived that they were all members of the same bowling team. This best illustrates the organizational principle of:

	A)
	proximity.

	B)
	convergence.

	C)
	closure.

	D)
	continuity.

	E)
	connectedness.


	18.
	The distorted room illusion involving two girls who rapidly shrink or enlarge can best be explained in terms of:

	A)
	shape constancy.

	B)
	retinal disparity.

	C)
	the misperception of distance.

	D)
	the principle of continuity.

	E)
	selective attention.


	19.
	Felix was so preoccupied with his girlfriend's good looks that he failed to perceive any of her less admirable characteristics. This best illustrates the dangers of:

	A)
	perceptual adaptation.

	B)
	figure-ground relationships.

	C)
	selective attention.

	D)
	the cocktail party effect.

	E)
	perceptual constancy.


	20.
	Although a few keys on the piano were broken, Shana couldn't prevent herself from mentally filling in the missing notes of the familiar melodies. This best illustrates the principle of:

	A)
	proximity.

	B)
	continuity.

	C)
	closure.

	D)
	convergence.

	E)
	interposition.


	21.
	Although college textbooks frequently cast a trapezoidal image on the retina, students typically perceive the books as rectangular objects. This illustrates the importance of:

	A)
	interposition.

	B)
	size constancy.

	C)
	linear perspective.

	D)
	shape constancy.

	E)
	binocular cues.


	22.
	Almost half the birds in the yard were brown cardinals and the rest were bright red cardinals, so Jimmy perceived them as two distinct groups of birds. This best illustrates the principle of:

	A)
	proximity.

	B)
	closure.

	C)
	similarity.

	D)
	connectedness.

	E)
	relative clarity.


	23.
	Distant trees were located closer to the top of the artist's canvas than were the nearby flowers. The artist was clearly using the distance cue known as:

	A)
	linear perspective.

	B)
	texture gradient.

	C)
	relative height.

	D)
	relative clarity.

	E)
	interposition.


	24.
	After watching a scary television movie, Julie perceived the noise of the wind rattling her front windows as the sound of a burglar breaking into her house. Her mistaken interpretation best illustrates the influence of:

	A)
	perceptual set.

	B)
	visual capture.

	C)
	perceptual adaptation.

	D)
	bottom-up processing.

	E)
	stroboscopic movement.


	25.
	Young children tend to draw human figures in a rather unrealistic way. This reflects their:

	A)
	selective attention to monocular cues.

	B)
	selective attention to legs and feet.

	C)
	linear perspective.

	D)
	perceptual schemas.

	E)
	retinal disparity.


	26.
	Lightness constancy is most clearly facilitated by:

	A)
	visual capture.

	B)
	interposition.

	C)
	relative luminance.

	D)
	retinal disparity.

	E)
	the phi phenomenon.


	27.
	The sequentially flashing Christmas tree lights appeared to generate pulsating waves of motion. This best illustrates:

	A)
	relative motion.

	B)
	retinal disparity.

	C)
	the phi phenomenon.

	D)
	visual capture.

	E)
	perceptual adaptation.


	28.
	John Locke would have suggested that a perceptual set results from:

	A)
	visual capture.

	B)
	relative clarity.

	C)
	natural selection.

	D)
	selective attention.

	E)
	prior experience.


	29.
	Jody's horse looks just as black in the brilliant sunlight as it does in the dim light of the stable. This illustrates what is known as:

	A)
	perceptual set.

	B)
	perceptual adaptation.

	C)
	sensory interaction.

	D)
	lightness constancy.

	E)
	the phi phenomenon.


	30.
	The perception of the letter “t” as two intersecting lines rather than as four nonintersecting lines illustrates the principle of:

	A)
	convergence.

	B)
	proximity.

	C)
	closure.

	D)
	continuity.

	E)
	similarity.


	31.
	Although the mountains were over 30 miles away, the morning sky was so clear that Showana thought they were only half the distance away. This best illustrates the importance of:

	A)
	lightness constancy.

	B)
	relative clarity.

	C)
	relative height.

	D)
	texture gradient.

	E)
	relative size.


	32.
	It wasn't until Clara heard some of her classmates laughing loudly during history class that she began to perceive the professor's ongoing lecture to be very funny. This provides an illustration of:

	A)
	relative clarity.

	B)
	the phi phenomenon.

	C)
	perceptual adaptation.

	D)
	context effects.

	E)
	the cocktail party effect.


	33.
	Which of the following is a binocular cue for the perception of distance?

	A)
	interposition

	B)
	convergence

	C)
	closure

	D)
	linear perspective

	E)
	texture gradient


	34.
	Schemas are best described as:

	A)
	concepts that organize sensory input.

	B)
	networks of interconnected brain cells.

	C)
	visual receptor cells located in the eye.

	D)
	genetic predispositions to perceive objects in a specific fashion.

	E)
	monocular cues for depth perception.


	35.
	The tendency to perceive a moving light in the night sky as belonging to an airplane rather than a satellite best illustrates the impact of:

	A)
	visual capture.

	B)
	relative clarity.

	C)
	feature detection.

	D)
	perceptual set.

	E)
	the phi phenomenon.


	36.
	The impact of experience on perception is most clearly illustrated by:

	A)
	visual capture.

	B)
	retinal disparity.

	C)
	the phi phenomenon.

	D)
	perceptual adaptation.

	E)
	extrasensory perception.


	37.
	When Helen noticed that her classmates were all wearing expensive designer jeans, she suddenly perceived her own offbrand jeans to be very unattractive. This best illustrates the importance of:

	A)
	convergence.

	B)
	visual capture.

	C)
	perceptual adaptation.

	D)
	texture gradient.

	E)
	context effects.


	38.
	The tendency to see complete letters on a neon sign, even though some of the bulbs are out, illustrates the principle of:

	A)
	closure.

	B)
	convergence.

	C)
	similarity.

	D)
	constancy.

	E)
	connectedness.


	39.
	A bank teller was so distracted by the sight of a bank robber's weapon that she failed to perceive important features of the criminal's physical appearance. This best illustrates:

	A)
	visual capture.

	B)
	perceptual set.

	C)
	retinal disparity.

	D)
	selective attention.

	E)
	the phi phenomenon.


	40.
	The steadily increasing size of the retinal image of an approaching object is especially important for perceiving the object's:

	A)
	shape.

	B)
	relative clarity.

	C)
	motion.

	D)
	height.

	E)
	weight.


Answer Key
	1.
	A

	2.
	B

	3.
	D

	4.
	C

	5.
	A

	6.
	B

	7.
	E

	8.
	E

	9.
	D

	10.
	B

	11.
	B

	12.
	B

	13.
	C

	14.
	B

	15.
	B

	16.
	D

	17.
	A

	18.
	C

	19.
	C

	20.
	C

	21.
	D

	22.
	C

	23.
	C

	24.
	A

	25.
	D

	26.
	C

	27.
	C

	28.
	E

	29.
	D

	30.
	D

	31.
	B

	32.
	D

	33.
	B

	34.
	A

	35.
	D

	36.
	D

	37.
	E

	38.
	A

	39.
	D

	40.
	C
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